



Sarvajanik University
Sarvajanik College of Engineering and Technology
Bachelor of Technology in Information Technology



Winter 2025 Regular Exam Final Result Including Results From All Prior Semesters Semester-III Final Result

Notification : SU/EXAM/FinalResultNotification/ W2025Reg_04022026-010

Print On Date: 04/Feb/2026 11:17 AM

Sr No	Enrollment No	Student Name	2			4					4					4					4					0		Current Sem Grade points	Total credits in current sem	Current sem SPI	Earned credits in current sem	Current sem bklg	Result	Backlogs	Cumulative Total Credits	Cumulative Earned Credits	Cumulative Grade Points	CPI					
			Principles of Economics and Management[BTAS10301]			Computer Organisation and Architecture[BTCO13302]					Microprocessor and Interfacing[BTCO13303]					Object Oriented Programming[BTCO13304]					Discrete Mathematics[BTT13301]					Data Structures[BTT13302]													Essence of Indian Traditional Knowledge[BTMD17301]				
			CAT	TEE	Course Grade	CAT	CAP	TEE	TEP	Course Grade	CAT	CAP	TEE	TEP	Course Grade	CAT	CAP	TEE	TEP	Course Grade	CAT	TEE	Course Grade	CAT	CAP	TEE	TEP												Course Grade	CAT	CAP	TEE	TEP
26	ET24BTIT031	KUMBHANI UTTAMKUMAR BHUPATBHAI	AA	CC	BB	AA	AA	AB	AA	AA	AB	AA	BC	AA	AB	AA	AA	BC	AA	AB	AA	AA	AA	AA	AA	BB	AA	AB	AB	208	22	9.45	22	0	Pass	0	64	64	597	9.33			
27	ET24BTIT032	MAGTARPARA DHRUV JAYANTIBHAI	BC	CD	CC	CC	BC	CD	BC	CC	BC	BB	FF	BB	FF	CC	FF	CC	CD	CC	CC	BC	CD	BC	CC	BC	BC	BC	84	22	3.82	14	2	Fail	S2: 2, S3: 2	64	49	311	4.86				
28	ET24BTIT033	MAYANI CHARM RAKESHBHAI	AB	CD**	BC	BB	AA	BC	BB	BB	AB	AA	BC	AB	AB	CC	BB	CD	BB	BC	AA	AA	AA	BC	AA	BB	BC	BB	BB	182	22	8.27	22	0	Pass	0	64	64	495	7.73			
29	ET24BTIT034	MISTRY URJA NAVINCHANDRA	AA	BB	AB	AB	AB	AA	AA	AB	AB	AB	AB	AB	AA	AA	CC	AA	AB	AA	AA	AA	AA	AB	AA	BB	AA	AB	AB	210	22	9.55	22	0	Pass	0	64	64	595	9.30			
30	ET24BTIT035	MODI VATSAL MANISHBHAI	AB	CC	BB	AA	AA	AB	BB	AA	AA	AA	BB	AB	AB	BC	BB	CD	AB	BC	AA	AA	AA	BC	BB	AB	BC	BB	AB	192	22	8.73	22	0	Pass	0	64	64	536	8.38			
31	ET24BTIT036	NAIK PRAVAR BHAVINBHAI	AA	AB	AA	AA	AA	BC	AB	AB	AA	AB	BC	AB	AB	AA	AB	CD	AA	BB	AA	AA	AA	BB	AB	AB	AB	AB	BB	200	22	9.09	22	0	Pass	0	64	64	561	8.77			
32	ET24BTIT037	PALADIYA NISHITA SHAILESHBHAI	BB	CD	BC	BB	BB	BC	BC	BB	BB	BB	CC	AB	BB	CC	BB	CD**	BB	BC	AB	AA	AA	BC	BB	BB	BB	BB	AB	178	22	8.09	22	0	Pass	0	64	64	480	7.50			
33	ET24BTIT038	PARMAR PARIL NILESHBHAI	BB	CD	BC	AB	BB	BC	BC	BB	AB	AA	CD**	AB	BB	BB	AB	CD	BC	BC	AA	AA	AA	CC	BC	BC	BB	BC	AB	174	22	7.91	22	0	Pass	0	64	64	505	7.89			
34	ET24BTIT039	PATEL AARVI VIJAY	BC	CC	BC	CC	BB	BC	BC	BC	CC	AB	CD	AB	BC	CC	BB	FF	BB	FF	CC	BC	BC	CC	BB	CC	BB	BC	AB	126	22	5.73	18	1	Fail	S1: 1, S2: 3, S3: 1	64	45	325	5.08			
35	ET24BTIT040	PATEL ARYA NIKUNJ	BB	BB	BB	AB	AB	BC	AB	AB	AA	AB	BB	AA	AA	AB	AA	BC	AA	AB	AA	AA	AA	AB	AB	BB	AA	AB	AB	204	22	9.27	22	0	Pass	0	64	64	585	9.14			
36	ET24BTIT041	PATEL DEVKUMAR MAHENDRABHAI	AB	CD	BC	AB	AB	BC	BC	BB	BB	BB	CD	AB	BC	BB	AB	CD**	AB	BB	AB	BB	AB	BB	BB	BB	AB	AB	AB	178	22	8.09	22	0	Pass	0	64	64	498	7.78			
37	ET24BTIT042	PATEL DHVANI SNEHALKUMAR	BC	FF	FF	CC	BB	FF	BC	FF	BC	BB	CC	AB	BB	CC	BB	FF	BB	FF	CC	BC	BC	CD	CC	CD	BB	CC	BB	84	22	3.82	12	3	Fail	S1: 1, S2: 2, S3: 3	64	44	300	4.69			
38	ET24BTIT043	PATEL HET NILESHKUMAR	AA	BB	AB	BB	BB	BC	BB	BC	BB	BB	AA	AB	AA	AA	CC	AA	AB	AA	AA	AA	BB	BB	AB	BB	AB	AB	AB	198	22	9.00	22	0	Pass	0	64	64	561	8.77			
39	ET24BTIT044	PATEL ISHA PARESHBHAI	BC	CD	CC	BC	AA	BC	BB	BB	BC	BB	BC	AB	BB	AB	AB	CD	AB	BB	BC	BB	BB	BC	BB	CC	BB	BC	BC	168	22	7.64	22	0	Pass	0	64	64	474	7.41			
40	ET24BTIT045	PATEL JAL BHUPENDRABHAI	AB	CC	BB	AA	AB	BB	BC	AB	AB	BB	BC	AB	AB	AA	CC	AB	BB	AB	BB	AB	BC	BB	BC	BB	BB	AB	AB	188	22	8.55	22	0	Pass	0	64	64	544	8.50			
41	ET24BTIT046	PATEL MAHIBEN PRAFFULKUMAR	AA	AA	AA	AA	AB	BB	AB	AB	AA	BB	BB	AA	AB	AA	AA	BC	AA	AB	AA	AA	AA	AA	AA	AA	AA	AA	AA	208	22	9.45	22	0	Pass	0	64	64	604	9.44			
42	ET24BTIT047	PATEL PRAGATI SANJAYBHAI	AA	AB	AA	AB	AA	AA	AB	AA	AA	BB	AA	AB	AA	AA	AA	AB	AA	AA	AA	AA	AA	AA	AA	AA	AA	AA	AB	AB	220	22	10.00	22	0	Pass	0	64	64	620	9.69		
43	ET24BTIT048	PATEL ROSHAN AJITKUMAR	AA	BB	AB	AA	AA	BC	BC	AB	BB	AA	AB	AA	AA	AA	AB	CD	AA	BB	AA	AA	AA	AB	AB	AB	BB	AB	AA	202	22	9.18	22	0	Pass	0	64	64	575	8.98			
44	ET24BTIT049	PATEL SARTHAK GANESHBHAI	AA	BB	AB	AA	AA	AB	BB	AA	AB	AA	BB	AA	AB	AA	AA	CC	AA	AB	AA	AA	AA	BC	AB	AB	AA	AB	AA	206	22	9.36	22	0	Pass	0	64	64	571	8.92			
45	ET24BTIT050	PATEL SHIV SUNILBHAI	BC	CC	BC	BB	AB	BC	BC	BB	BB	BB	BC	AB	BB	BC	BB	CD**	BB	BC	BB	BB	BB	BC	AA	BC	BB	BB	AB	170	22	7.73	22	0	Pass	0	64	64	472	7.38			
46	ET24BTIT051	PATEL TIRTH ALPESHBHAI	AA	CC	BB	BC	BC	AA	BC	AB	BC	AB	BB	AA	AB	AA	AA	BC	AB	AB	AA	AA	AA	BC	BB	AB	AA	AB	BB	200	22	9.09	22	0	Pass	0	64	64	552	8.63			
47	ET24BTIT052	PATEL VEDANSH RINKUKUMAR	BC	CD	CC	BB	BB	CC	BC	BC	BB	AA	CD	BB	BB	BC	BB	CD	BC	BC	BC	CD	CC	CC	AB	BC	BB	BB	AB	156	22	7.09	22	0	Pass	0	64	64	466	7.28			
48	ET24BTIT053	PIPALIYA JAY BHARATBHAI	BC	CD	CC	BB	BB	BB	BC	BB	BB	AA	AA	AB	AA	AB	AB	CD	AA	BB	AB	AB	AB	BC	BB	BB	BB	BB	AB	184	22	8.36	22	0	Pass	0	64	64	505	7.89			
49	ET24BTIT054	PIPALWA RIYA BHAVESHBHAI	AA	BC	AB	AB	AB	BC	AB	AB	AB	AB	AB	AB	AB	AA	AA	BC	AB	AB	AA	AA	AA	AA	AA	AA	AA	AA	AB	206	22	9.36	22	0	Pass	0	64	64	558	8.72			
50	ET24BTIT056	RANA NISARG ALPESHKUMAR	AA	CC	BB	AB	AB	BB	BB	AB	AB	AA	BC	AA	AB	AB	CC	AB	BB	AA	AB	AA	AB	AB	AB	AB	AB	AB	AB	196	22	8.91	22	0	Pass	0	64	64	546	8.53			

Notification : SU/EXAM/FinalResultNotification/ W2025Reg_04022026-010



Sarvajanik University
Sarvajanik College of Engineering and Technology
Bachelor of Technology in Information Technology



Winter 2025 Regular Exam Final Result Including Results From All Prior Semesters Semester-III Final Result

Notification : SU/EXAM/FinalResultNotification/ W2025Reg_04022026-010

Print On Date: 04/Feb/2026 11:17 AM

Sr No	Enrollment No	Student Name	2			4					4					4					4					0		Current Sem Grade points	Total credits in current sem	Current sem SPI	Earned credits in current sem	Current sem bklg	Result	Backlogs	Cumulative Total Credits	Cumulative Earned Credits	Cumulative Grade Points	CPI					
			Principles of Economics and Management[BTAS10301]			Computer Organisation and Architecture[BTCO13302]					Microprocessor and Interfacing[BTCO13303]					Object Oriented Programming[BTCO13304]					Discrete Mathematics[BTIT13301]					Data Structures[BTIT13302]													Essence of Indian Traditional Knowledge[BTMD17301]				
			CAT	TEE	Course Grade	CAT	CAP	TEE	TEP	Course Grade	CAT	CAP	TEE	TEP	Course Grade	CAT	CAP	TEE	TEP	Course Grade	CAT	TEE	Course Grade	CAT	CAP	TEE	TEP												Course Grade	CAT	CAP	TEE	TEP
79	ET24BTIT086	JARIWALA MOHAMMEDUBADA MOHAMMEDTARIQ	AA	BB	AB	AA	AA	AB	AA	AA	AA	AA	AA	AA	AA	AA	AA	AA	AA	AA	AA	AA	AA	AA	AA	AA	AA	AA	AA	AB	AB	218	22	9.91	22	0	Pass	0	64	64	605	9.45	
80	ET24BTIT087	KADWA FATIMA JAKIR HUSEN	AA	CD	BC	AA	AA	BC	AB	AB	AA	AA	BC	AA	AB	BB	AA	CD**	BB	BB	BB	AA	AA	AB	AA	AA	BB	AA	BB	BB	198	22	9.00	22	0	Pass	0	64	64	537	8.39		
81	ET24BTIT088	KAKLOTAR VAIBHAV VIKRAMBHAI	BC	CC	BC	BB	AA	CC	AB	BB	CC	AA	AB	BB	AB	BC	BB	CD**	CC	BC	BB	BC	BB	BC	BB	AB	AB	AB	AB	178	22	8.09	22	0	Pass	0	64	64	500	7.81			
82	ET24BTIT089	KARTAVYA NILKANTHBHAI VEGAD	BC	BC	BC	BB	AB	CC	BB	BB	BC	AB	CC	BC	BC	CC	BB	CD	BB	BC	AB	CC	BB	CC	BC	BC	BB	BC	AB	AB	162	22	7.36	22	0	Pass	0	64	64	469	7.33		
83	ET24BTIT090	KATHIRIYA BANSI RAJUBHAI	BB	CC	BC	BB	AA	CC	BB	BB	CC	AB	CC	CD	BC	BC	BB	CD	BB	BC	AB	BB	AB	BB	AB	AB	AB	AB	AB	AB	174	22	7.91	22	0	Pass	0	64	64	493	7.70		
84	ET24BTIT091	KATRODIYA JEVINKUMAR JANAKBHAI	BB	CD**	BC	AB	AB	BB	AB	AB	BC	AB	BB	BC	BB	BC	CC	AA	BB	AB	BB	AB	BB	AB	BB	AB	AB	AB	AB	AB	186	22	8.45	22	0	Pass	0	64	64	543	8.48		
85	ET24BTIT092	KATYARE RIYA PRADIPBHAI	AB	CD	BC	BB	AA	BB	BB	AB	BB	AB	CD	BC	BC	CC	BB	CD	AB	BC	AB	BB	AB	BB	BC	BB	BB	BB	BB	174	22	7.91	22	0	Pass	0	64	64	489	7.64			
86	ET24BTIT093	KOSHIYA VANSHIKA SANDEEPBHAI	AB	AB	AB	AA	AA	AA	AA	AA	AA	AA	BB	AB	AB	AA	BB	CC	AA	AB	AA	AA	AA	AA	AA	AA	AA	AA	AB	AB	210	22	9.55	22	0	Pass	0	64	64	594	9.28		
87	ET24BTIT095	LAD ABHI JITENDRAKUMAR	NA	FF	FF	CD	FF	FF	NA	FF	CD	BC	FF	NA	FF	CC	CC	FF	CC	FF	CD	CD	CD	FF	FF	FF	NA	FF	BB	BB	20	22	0.91	4	5	Fail	S2: 3, S3: 5	64	35	245	3.83		
88	ET24BTIT096	LIMBASIYA PRIYANK VIPULBHAI	BB	CD	BC	BC	AA	BB	AB	AB	BC	AB	CC	BB	BB	BC	AB	CD**	BB	BC	BC	BB	BB	BC	BB	BC	BB	BB	BB	BB	174	22	7.91	22	0	Pass	0	64	64	470	7.34		
89	ET24BTIT097	MAISURIA YAKSH NILESHKUMAR	BC	FF	FF	BC	AB	CD	BB	BC	BC	AB	CC	BC	BC	CC	BB	FF	AB	FF	BC	BC	BC	CC	BC	CD	BB	BC	BC	112	22	5.09	16	2	Fail	S3: 2	64	58	402	6.28			
90	ET24BTIT098	MANAN PANCHAL	AA	BB	AB	BB	AB	AB	AB	AB	AA	AA	AA	AB	AA	AA	AA	AB	AB	AA	AA	AA	AA	AA	AA	AA	AA	AA	AA	AA	214	22	9.73	22	0	Pass	0	64	64	564	8.81		
91	ET24BTIT099	MAYANI PUNJAN HITESHBHAI	BB	FF	FF	CC	BB	FF	BC	FF	CC	BC	FF	BC	FF	CC	CC	FF	CD	FF	CC	CC	CC	FF	BB	FF	BB	BB	BB	24	22	1.09	4	5	Fail	S2: 2, S3: 5	64	41	269	4.20			
92	ET24BTIT100	MİYANI MAN YOGESHBHAI	BB	FF	FF	BB	AB	BC	AB	BB	AB	AA	CC	AB	BB	AB	AA	CC	AA	AB	AB	BB	AB	BB	AB	BB	AB	BB	BB	172	22	7.82	20	1	Fail	S3: 1	64	62	506	7.91			
93	ET24BTIT101	MODI BHARGAV PRAKASHCHANDRA	AB	CC	BB	BB	AA	CC	AB	BB	AA	AA	CC	AA	AB	AB	AB	CC	AB	BB	AA	AB	AA	AB	BB	AB	BB	AB	AB	BB	192	22	8.73	22	0	Pass	0	64	64	562	8.78		
94	ET24BTIT102	MORADIYA SARTH RAMESHBHAI	AA	BC	AB	AB	AA	AB	AA	AA	AA	AA	BB	AB	AB	AA	AA	BC	AA	AB	AA	AA	AA	AA	AB	AA	AB	AB	AB	AB	210	22	9.55	22	0	Pass	0	64	64	577	9.02		
95	ET24BTIT103	PADSALA KARTIK MAHESHKUMAR	BC	CD	CC	CC	AB	CD	BC	BC	BB	AA	CC	AB	BB	CC	BC	FF	AB	FF	AB	BC	BB	BB	AB	BC	BB	BB	BB	136	22	6.18	18	1	Fail	S2: 1, S3: 1	64	56	429	6.70			
96	ET24BTIT104	PANCHAL VIVEKKUMAR BHARATBHAI	BC	CD	CC	CC	AB	CD	BB	BC	BC	AB	FF	BB	FF	BB	BB	FF	AA	FF	BB	CC	BC	BC	BB	CC	CC	BC	AB	AB	96	22	4.36	14	2	Fail	S2: 1, S3: 2	64	52	355	5.55		
97	ET24BTIT105	PANCHANI DHVANIT MAHESHBHAI	BB	CD	BC	AB	AA	BB	AA	AB	BC	AA	CC	BB	BB	BB	AA	CD	AA	BB	BB	BB	BB	BB	BB	BB	BB	BB	BB	178	22	8.09	22	0	Pass	0	64	64	490	7.66			
98	ET24BTIT106	PARMAR MAHEK BIPINBHAI	BC	CC	BC	BC	AB	CC	BC	BC	CC	AB	CD	BC	BC	CC	AB	CD	BB	BC	BC	BB	BB	BC	BC	BC	BC	BC	BC	158	22	7.18	22	0	Pass	0	64	64	454	7.09			
99	ET24BTIT107	PATEL ARYANKUMAR DIPAKBHAI	BB	CD	BC	BB	AB	BB	AB	AB	BB	AA	BC	AA	AB	BC	BC	CD	AA	BC	BB	AB	AB	AB	AB	AB	AB	AB	AB	AB	186	22	8.45	22	0	Pass	0	64	64	492	7.69		
100	ET24BTIT108	PATEL DHRUMIL SANJAYKUMAR	BB	CC	BC	BB	AB	CC	BC	BB	BC	AA	CD	BB	BC	BB	BB	CD	AA	BB	BB	BB	BB	BB	BB	BB	BB	BB	BB	174	22	7.91	22	0	Pass	0	64	64	516	8.06			
101	ET24BTIT109	PATEL DHRUVIL RAKESHKUMAR	BB	CC	BC	AB	AA	BB	AB	AB	AB	AA	BB	AB	AB	BB	BB	BC	AA	BB	AB	BB	AB	BB	AB	AB	AB	AB	AB	AB	190	22	8.64	22	0	Pass	0	64	64	518	8.09		
102	ET24BTIT110	PATEL FENIL DEEPAKBHAI	AB	AB	AB	AA	AA	BB	AB	AB	BC	AB	BB	BB	BB	AB	AA	BC	AB	AB	AA	AA	AA	AA	AA	AA	AA	AA	AA	AA	202	22	9.18	22	0	Pass	0	64	64	568	8.88		
103	ET24BTIT111	PATEL FRIYANSHI KANTILAL	BC	CC	BC	BB	AB	CC	BB	BB	BC	AA	BC	BB	BB	CC	AA	CD	BC	BC	AA	BC	AB	BC	BB	AB	AB	AB	AB	174	22	7.91	22	0	Pass	0	64	64	505	7.89			

Notification : SU/EXAM/FinalResultNotification/ W2025Reg_04022026-010

Dshere *ADK* *Handwritten*



Sarvajanik University
Sarvajanik College of Engineering and Technology
Bachelor of Technology in Information Technology



Winter 2025 Regular Exam Final Result Including Results From All Prior Semesters Semester-III Final Result

Notification : SU/EXAM/FinalResultNotification/ W2025Reg_04022026-010

Print On Date: 04/Feb/2026 11:17 AM

Sr No	Enrollment No	Student Name	2			4					4					4					4					0		Current Sem Grade points	Total credits in current sem	Current sem SPI	Earned credits in current sem	Current sem bklg	Result	Backlogs	Cumulative Total Credits	Cumulative Earned Credits	Cumulative Grade Points	CPI					
			Principles of Economics and Management[BTAS10301]			Computer Organisation and Architecture[BTCT13302]					Microprocessor and Interfacing[BTCT13303]					Object Oriented Programming[BTCT13304]					Discrete Mathematics[BTIT13301]					Data Structures[BTIT13302]													Essence of Indian Traditional Knowledge[BTMD17301]				
			CAT	TEE	Course Grade	CAT	CAP	TEE	TEP	Course Grade	CAT	CAP	TEE	TEP	Course Grade	CAT	CAP	TEE	TEP	Course Grade	CAT	TEE	Course Grade	CAT	CAP	TEE	TEP												Course Grade	TEE	Course Grade		
104	ET24BTIT112	PATEL HETVI SANJAYBHAI	AB	BC	BB	AB	AA	BB	AB	AB	BC	AA	CC	BB	BB	AB	AA	CC	BB	BB	AA	AB	AA	BB	AA	BB	BB	196	22	8.91	22	0	Pass	0	64	64	527	8.23					
105	ET24BTIT113	PATEL KRISH NARESHBHAI	AB	BB	AB	AB	AB	AB	AB	AB	BC	AA	BB	BB	BB	AA	AB	CC	BC	BB	AA	AA	AA	AA	BB	AB	BC	AB	194	22	8.82	22	0	Pass	0	64	64	534	8.34				
106	ET24BTIT114	PATEL MANTHANKUMAR PANKAJBHAI	BC	CD	CC	AB	AB	AB	AB	AB	BC	AA	BC	BB	BB	BB	AB	BB	AB	AB	AB	BB	AB	BC	BC	AA	BB	AB	188	22	8.55	22	0	Pass	0	64	64	522	8.16				
107	ET24BTIT115	PATEL MEGH RITESHBHAI	BB	CD	BC	BB	BB	BB	BB	BB	BC	AB	BC	BB	BB	AB	AA	CC	BB	BB	BB	BC	BB	BB	AB	AA	AB	178	22	8.09	22	0	Pass	0	64	64	477	7.45					
108	ET24BTIT116	PATEL MUSKAAN NIRAJ	CC	AB	BB	BB	AB	BB	AB	BB	AA	CC	AA	BB	BB	AB	BC	AB	BB	AA	AA	AA	BB	AB	BC	AA	AB	192	22	8.73	22	0	Pass	0	64	64	543	8.48					
109	ET24BTIT117	PATEL SHREY GAUTAMBHAI	BC	CD	CC	AB	AB	FF	AB	FF	CC	AB	FF	BC	FF	BC	AB	FF	AA	FF	BB	BC	BB	CC	BC	CD	CC	CC	68	22	3.09	10	3	Fail	S1: 2, S3: 3	64	45	312	4.88				
110	ET24BTIT118	PATEL SMIT SANJAYBHAI	AB	BB	AB	AB	AA	BB	AA	AB	AB	AA	AB	AB	AA	AA	AB	CC	BB	BB	AA	AA	AA	AB	AA	AA	BB	AA	206	22	9.36	22	0	Pass	0	64	64	586	9.16				
111	ET24BTIT119	PATEL VIGNA DARSHAN	AB	BC	BB	AA	AA	BC	AA	AB	BB	AB	AB	AA	AB	BB	BB	CD	BB	BC	AA	BB	AB	BC	AB	BB	BC	BB	184	22	8.36	22	0	Pass	0	64	64	530	8.28				
112	ET24BTIT120	PATEL YUG SHAILESHBHAI	BC	FF	FF	BC	AB	FF	BC	FF	BC	AB	FF	BB	FF	CC	BB	FF	CC	FF	AB	CC	BB	CC	BC	CD	CC	CC	56	22	2.55	8	4	Fail	S1: 1, S3: 4	64	47	312	4.88				
113	ET24BTIT121	PATIL JAY SANDIP	CC	CC	CC	AB	AB	CC	AB	BB	BC	BB	CC	BC	BC	BB	BB	CD	AB	BC	BC	BC	BC	CC	BB	BB	BC	BB	160	22	7.27	22	0	Pass	0	64	64	490	7.66				
114	ET24BTIT122	POTHIYAWALA FIRDOSH FIROZ	BC	CD	CC	AB	AB	CD	BB	BB	BC	BB	CC	BC	BC	BB	AA	CD	AB	BB	AB	BB	AB	BB	BC	AB	AB	176	22	8.00	22	0	Pass	0	64	64	496	7.75					
115	ET24BTIT123	RAMANI HARSH DINESHBHAI	BC	BC	BC	AA	AB	BC	AB	AB	CC	BB	CC	BC	BC	BB	CC	CD	BC	BC	AB	BB	AB	CC	CD	BC	BC	BC	170	22	7.73	22	0	Pass	0	64	64	491	7.67				
116	ET24BTIT125	SAHANI NEERAJ SANJAY	BB	CD	BC	BB	AA	CC	AB	BB	AA	AA	CC	AA	AB	AA	AA	CD	AA	BB	AB	AB	AB	BB	AB	CC	AB	BB	182	22	8.27	22	0	Pass	0	64	64	517	8.08				
117	ET24BTIT126	SAKSHI JAIN	AA	AB	AA	AB	AA	BC	AA	AB	AB	AA	BC	AB	AB	AB	BB	BC	AA	AB	AA	AB	AA	AA	AA	AA	AA	AB	208	22	9.45	22	0	Pass	0	64	64	590	9.22				
118	ET24BTIT127	SAVANI SAPNIL HARESHBHAI	BC	CD	CC	BB	AB	CC	BB	BB	CC	AB	CC	BC	BC	CC	BB	CD	AB	BC	BC	CD	CC	BC	BB	BB	BC	BB	156	22	7.09	22	0	Pass	0	64	64	469	7.33				
119	ET24BTIT128	SHRIYA AGRAWAL	BB	CD	BC	AA	AB	BC	AB	AB	AB	AA	BC	AA	AB	AA	AA	CD	AA	BB	AA	AA	AA	AA	AB	BB	AB	AB	194	22	8.82	22	0	Pass	0	64	64	548	8.56				
120	ET24BTIT129	SORATHIYA DHURUVIL ARVINDBHAI	AB	CD	BC	BB	AA	BB	BB	AB	BC	AB	AA	AA	AA	AB	BB	CD	AA	BB	AA	AB	AA	AB	AB	AB	AB	AB	198	22	9.00	22	0	Pass	0	64	64	550	8.59				
121	ET24BTIT130	SORATHIYA RUCHA VINODBHAI	AB	CC	BB	AA	AA	AA	AA	AA	AA	AA	AA	AA	AA	AA	AA	BC	BB	AB	AB	AA	AA	AA	AA	AA	AA	AB	212	22	9.64	22	0	Pass	0	64	64	604	9.44				
122	ET24BTIT132	SUTARIYA AYUSHI MAHESHBHAI	AB	CC	BB	AB	AA	AB	BB	AB	BC	AA	BC	BB	BB	CC	BB	CD	BB	BC	AA	AA	AA	BB	AB	AB	BB	AB	188	22	8.55	22	0	Pass	0	64	64	518	8.09				
123	ET24BTIT133	TANDEL ANUSKAKUMARI NILESHBHAI	BC	CD	CC	BC	BB	AA	BB	AB	BB	AB	CC	BB	BB	BB	AB	CD	AB	BB	AA	AB	AA	CC	BC	AB	BC	BB	184	22	8.36	22	0	Pass	0	64	64	499	7.80				
124	ET24BTIT134	TANK KESHVI LALITBHAI	BB	CC	BC	BB	AA	CC	BB	BB	BC	AB	BC	BC	BB	CC	BB	CD	BB	BC	AB	AB	AB	BC	BB	CD	BC	BC	170	22	7.73	22	0	Pass	0	64	64	501	7.83				
125	ET24BTIT135	TARSARIYA KULDIP KANUBHAI	AA	BC	AB	AA	AB	AA	AB	AA	AB	AA	BB	AB	AB	BC	AB	AB	AA	AB	AA	AA	AA	AA	AA	AA	AA	AB	210	22	9.55	22	0	Pass	0	64	64	580	9.06				
126	ET24BTIT136	THAKKAR NANDANI HITESHBHAI	BB	BB	BB	BB	BB	BC	BB	BB	BB	AA	CC	BC	BB	BB	BC	CD	BB	BC	AB	BC	BB	AB	BB	BC	BB	BB	172	22	7.82	22	0	Pass	0	64	64	503	7.86				
127	ET24BTIT137	THANNIMOOTTILL FELICSON SAVIO	AB	BB	AB	AB	AB	BB	AB	AB	AB	AB	BB	BB	AB	AB	AB	CD	AA	BB	AB	AA	AA	BB	AB	AB	BB	AB	198	22	9.00	22	0	Pass	0	64	64	532	8.31				
128	ET24BTIT138	THUMMAR PRIT SURESHBHAI	AA	BC	AB	AB	AB	BB	AB	AB	AB	AB	CD	BB	BB	AB	BC	CD	AA	BB	AA	AB	AA	BB	AB	AA	BC	AB	194	22	8.82	22	0	Pass	0	64	64	543	8.48				
129	ET24BTIT139	VALA AMIT HARESHBHAI	BC	FF	FF	BC	BB	CC	BC	BC	CC	BB	FF	BC	FF	CC	BC	FF	AA	FF	BC	CC	CC	BC	CC	BB	CC	BB	84	22	3.82	12	3	Fail	S3: 3	64	54	379	5.92				

Notification : SU/EXAM/FinalResultNotification/ W2025Reg_04022026-010





Sarvajanik University
Sarvajanik College of Engineering and Technology
Bachelor of Technology in Information Technology



Winter 2025 Regular Exam Final Result Including Results From All Prior Semesters Semester-III Final Result

Notification : SU/EXAM/FinalResultNotification/ W2025Reg_04022026-010

Print On Date: 04/Feb/2026 11:17 AM

Sr No	Enrollment No	Student Name	2			4					4					4					4					0		Current Sem Grade points	Total credits in current sem	Current sem SPI	Earned credits in current sem	Current sem bklg	Result	Backlogs	Cumulative Total Credits	Cumulative Earned Credits	Cumulative Grade Points	CPI			
			Principles of Economics and Management[BTAS10301]			Computer Organisation and Architecture[BTCO13302]					Microprocessor and Interfacing[BTCO13303]					Object Oriented Programming[BTCO13304]					Discrete Mathematics[BTTT13301]			Data Structures[BTTT13302]															Essence of Indian Traditional Knowledge[BTMD17301]		
			CAT	TEE	Course Grade	CAT	CAP	TEE	TEP	Course Grade	CAT	CAP	TEE	TEP	Course Grade	CAT	CAP	TEE	TEP	Course Grade	CAT	TEE	Course Grade	CAT	CAP	TEE	TEP												Course Grade	TEE	Course Grade
130	ET24BTIT140	VEKARIYA AYUSH RAJUBHAI	AB	CD	BC	AB	AB	BC	AB	AB	BC	BB	CC	BC	BC	BB	BB	CD	BB	BC	AA	AB	AA	AB	BB	BC	AB	AB	BB	BB	182	22	8.27	22	0	Pass	0	64	64	513	8.02
131	ET24BTIT141	VYAS HARSH AMIT	BC	CD	CC	AA	AB	BB	AA	AA	BC	AB	BC	BC	BB	AB	AA	CC	AA	AB	AA	BB	AB	BB	BC	AB	BB	BB	BB	188	22	8.55	22	0	Pass	0	64	64	523	8.17	
132	ET24BTIT142	VYAS SMIT DHARMENDRAKUMAR	BC	CD	CC	BC	BB	CC	BC	BC	CC	AB	BC	BC	BC	BB	BB	CD	AA	BB	BC	CC	BC	CD	BB	BC	BB	BB	156	22	7.09	22	0	Pass	0	64	64	461	7.20		
133	ET24BTIT143	ZADAFIYA RADHA BHARATBHAI	AB	BC	BB	BB	AA	AB	AB	AB	BC	AA	CD	BB	BC	AA	AA	BB	AA	AA	AA	AB	AA	AB	BB	AB	AA	AA	AA	200	22	9.09	22	0	Pass	0	64	64	540	8.44	
134	ET25BTIT801	ATHARV HITESH PATEL	AB	BC	BB	AA	AB	AB	AA	AA	AB	AA	AB	AB	AA	AA	AA	AB	AA	AA	AA	AA	AA	AA	AA	AA	AB	AB	AA	AA	216	22	9.82	22	0	Pass	0	22	22	216	9.82
135	ET25BTIT802	JHAVERI DHRITI MEHULKUMAR	AA	AB	AA	AA	AA	AA	BB	AA	AA	AB	AA	AA	AA	AA	AA	AA	AA	AA	AA	AA	AA	AA	AA	AB	AB	AB	AB	AB	216	22	9.82	22	0	Pass	0	22	22	216	9.82
136	ET25BTIT803	KENIL PARSANA	AB	CC	BB	BC	BB	BC	BC	BB	CC	BB	BC	BB	BB	BB	CC	AA	BB	CC	CC	CC	BB	AB	BC	BB	BB	BB	168	22	7.64	22	0	Pass	0	22	22	168	7.64		
137	ET25BTIT804	PREKH VED CHETANKUMAR	BC	CD	CC	BC	AA	BC	BC	BB	BB	AB	BB	AB	AB	AB	AA	CD	AA	BB	BC	BC	BC	CC	AB	CC	BB	BC	AB	AB	168	22	7.64	22	0	Pass	0	22	22	168	7.64
138	ET25BTIT805	PATEL HETVI CHIRAGKUMAR	AA	BC	AB	AA	AB	AA	AB	AA	AA	AA	AA	AB	AA	AA	AA	BB	AA	AA	AA	AA	AA	AA	AA	AB	AB	AA	AA	218	22	9.91	22	0	Pass	0	22	22	218	9.91	
139	ET25BTIT806	PATEL PARTH RAKESHBHAI	BC	CC	BC	BB	AA	BC	BC	BB	AB	AB	BC	BB	BB	AA	AA	CC	AA	AB	BB	BB	BB	BB	AA	BC	AB	AB	AB	182	22	8.27	22	0	Pass	0	22	22	182	8.27	
140	ET25BTIT807	PATEL SHLOK MANISH	AA	BB	AB	AA	BB	BC	AA	AB	BB	AB	AB	AB	AB	AB	AB	BB	AB	AB	BB	AB	AB	AB	AB	AB	AB	BB	BB	198	22	9.00	22	0	Pass	0	22	22	198	9.00	
141	ET25BTIT808	RAGHIVANI VEDIKA JIGNESH	AB	BC	BB	BB	AA	BC	BB	BB	BB	AB	AB	AB	AB	AB	AA	CD	AA	BB	AA	AB	AA	CC	AB	AB	BC	BB	AB	AB	188	22	8.55	22	0	Pass	0	22	22	188	8.55
142	ET25BTIT809	SAIYED MD. SALMAN MD. AFZAL	BB	CC	BC	AB	BB	BB	BB	AB	AA	AB	AA	AA	AA	AA	AA	BC	AA	AB	BC	AA	AB	CC	BB	BC	BC	BC	AA	AA	190	22	8.64	22	0	Pass	0	22	22	190	8.64
143	ET25BTIT810	SOLANKI AAYSHA ABDULBHAI	BB	BC	BB	AB	BB	AB	BB	AB	AB	AB	AA	AA	AA	AA	AB	CC	AB	AB	BB	AB	AB	CC	BB	AB	BB	BB	AA	AA	196	22	8.91	22	0	Pass	0	22	22	196	8.91
144	ET25BTIT811	SOLANKI VED HARSHADBHAI	BC	CD	CC	BB	BC	CC	BB	BB	BB	BB	CC	AB	BB	BC	BB	CD	CC	BC	CC	CD	CC	CC	BB	CC	BC	BC	CC	CC	156	22	7.09	22	0	Pass	0	22	22	156	7.09
145	ET25BTIT812	ALAGIYA VRAJ BHARATBHAI	BB	BC	BB	BC	AB	CC	BB	BB	BB	BB	FF	BB	FF	BB	BB	BC	AB	BB	BC	BC	BC	CC	BB	BC	BB	BB	BB	140	22	6.36	18	1	Fail	S3: 1	22	18	140	6.36	
146	ET25BTIT813	DHAMELIYA VANSI BHARATBHAI	BB	CD	BC	AA	AA	AB	AB	AA	BB	AA	CC	AB	BB	AA	AA	BB	AA	AA	BB	AB	AB	BC	AB	AA	AB	AB	AB	198	22	9.00	22	0	Pass	0	22	22	198	9.00	
147	ET25BTIT814	GOTAWALA PRAHARSH PANKAJKUMAR	NA	BB	FF	BB	AA	CD	BB	BB	CC	BB	BB	BC	BB	CC	AB	CD	CD	CC	BC	FF	FF	CC	CC	BB	BC	BC	AB	AB	116	22	5.27	16	2	Fail	S3: 2	22	16	116	5.27
148	ET25BTIT815	KANANI STUTI NIKESHBHAI	BC	BC	BC	AB	AA	BC	AB	AB	BC	BB	CC	BC	BC	CC	CC	CD	BC	CC	BC	CD	CC	CC	BC	BC	BC	BC	AB	AB	154	22	7.00	22	0	Pass	0	22	22	154	7.00
149	ET25BTIT816	PATIL KRISHNA RAVINDRA	BB	CD	BC	AB	AB	BB	AB	AB	BB	AB	BB	AB	AB	AA	AA	BC	AA	AB	BC	AB	AB	BC	AA	AB	BB	AB	AB	194	22	8.82	22	0	Pass	0	22	22	194	8.82	
150	ET25BTIT817	SURATI HARSHKUMAR JAGDISHBHAI	NA	FF	FF	BC	AB	FF	BC	FF	CC	BB	FF	BC	FF	BC	CC	BC	BB	BB	BC	CC	CC	CC	BB	BC	BC	AB	AB	88	22	4.00	12	3	Fail	S3: 3	22	12	88	4.00	
151	ET25BTIT818	VAVIYA JANVI NARESHBHAI	BC	CC	BC	BB	AA	CD	BC	BC	CC	BB	BC	BC	BC	BC	BB	CC	BB	BC	BC	CC	CC	CC	CC	BC	BC	BB	BB	154	22	7.00	22	0	Pass	0	22	22	154	7.00	

Notification : SU/EXAM/FinalResultNotification/ W2025Reg_04022026-010

D Sharma

Prepared by & Checked by,
Dr. Dhruvi Sharma
SU Exam OSD/Assessment Coordinator

Nimesh Desai

Verified by,
Mr. Nimesh Desai,
SU-Exam Section

Hiren H. Patel

Dr. Hiren H. Patel
Dean/Principal,
SCET, Sarvajanik University

Nilesh Pandya

Dr. Nilesh Pandya
Controller of Examination,
Sarvajanik University

